Roles of  Probabilihy

On ble, there are a tota@stinct books: 9 math bookhys‘iﬁcs books,

an@vemistry books.
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What is the probability of getting a book that is not a math book?
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Generalize  do  nclode  ewvends tal ae ot mutoally  exclosie

A fair 20-sided dice is rolled.
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What is the probability that the roll is an even number or prime numbe@
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Again, the number in each subset represents how many times that subset is cou :
oV erlap of all three subsets must be added back in due to it being removed after the second step
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